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Question Number : 1 Question Id : 2105294552 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning
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2. Frequr iR aifrm i Tu U ddfia &
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4. Trgr e T IR B

From the following list of learner characteristics, identify those which are associated with "field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A Cand Donly

4.C Dand E only www.FirstRanker.com
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Options :

21052918005. 1
21052918006. 2
21052918007. 3
21052918008. 4

Question Number : 2 Question Id : 2105294553 Question Type : MCQ Option Shuffling : No Display Quest
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HftrmEal ot Rufalad At F 3 37 Buael o usam Sifen S &7 Wra Hfirmmsat
EEGIERES

A. T AR fgidl & O $fgd dear e
B. @YURINSHT IR HREl & afd® Teqsl @ 99 d &
C. Uioeayl & i AT ¢T3k Udg $dl &

D. %04 §RI Y1 oaiyd H Y& dl & / Ibdl &

E. 98d1 &1 986 ®idl o
id feu e fasedl § U U8 ST g -

1. Had A, B AR C
2. ®HadaB, C3RD
3. BAAA C3HRD
4HIAC, DIARE
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Question Number : 3 Question Id : 2105294554 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person’s self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. D and E only
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3. ®aAC 3R D
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Match List | with List 11
List | List Il
Scale of measurement Properties

A, Mominal I. Classification and order
B. Ordinal Il. Classification, order and equal units
Ill. Classification, order, equal units and absolute
C. Interval
Zero
D. Ratio IV. Classification only

Choose the correct answer from the options given below:

LA-LB-ILC-iLD-V
ZA-WB-LEC-IV, D~ Il
ZA-ULB-ILC-IV, D]
4 A-IV,B-LC-I,D-1

www.FirstRanker.com




:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

geil-1 § A1 & UER (U U & sidf ai-1 T 3o faRudi adis s 6 -

Tl T1-11

A ATEEG |1 TFfE R ©F

B.®H® ||l Ff@eul, B9 3R T @l

c.3aud |11 FlEY, HH, GEH el AR FRuE Y
D. 3-Uld  |IV. dde aificsul

i fau U fashedl § U 9o It &1 98 @i ;

T.A-1L,B-I,C-11,D-1V
ZA-ILB-1,C-1V,D-1l
3A-LB-ILC-IV,D-1
4 A-IV,B-1,C-1I,D-10
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning cutcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

www.FirstRanker.com
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2. Y (A) 3R (R) GHT Hel &, fbd (R), (A) BT He! RS 8] B
3. By (A) U & fdoed HYH (R) TT0id B

4. DY (A) 30 g, T (R) GBI B

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it

belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research

www.FirstRanker.com
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21052918022. 2
21052918023. 3
21052918024. 4

Question Number : 6 Question Id : 2105294557 Question Type : MCQ Option Shuffling : No Display Quest
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oIs Rigid FpR & vae Risia W e e - siferm o srafy = y=iar SR g &
YT JTd B3 DI W19 Bl ol T8 69 PR & SYyE U Gafdd grm 2

1. HifeTd TG
2. IS TR D SHTHYH
3. PO Y

4. STHGT ITHUH
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Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement lI: The focus of action research is basically on the amelioration of prevalent

practices
In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

TR A HYTRTME:

Y- T AFTEYH [l Sid & MM g A #u 8 gfe #d e

BYA- 11 : REAT® SIEYH @1 @H 0 ¥9 9 Fafed URUiedl I 39d 8 W Sisd oidl 5|
Suged B! B ATeid H Fiied el 4 98 Iw 9 ;

1. YT 1 3R 1 SHT T B
2. ®Y | 3R I GHI T B
3, HUH-| 9 &, fdo=g HYH-11 Ted B

4, HYF-| 39 B, foog Y- q‘:l_E’pl\g\A/w.FirstRan ker.com
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Options :

21052918025. 1
21052918026. 2
21052918027. 3
21052918028. 4

Question Number : 8 Question Id : 2105294559 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List II
Key research terms Description
A. Research problems I. Devices using which data are gathered

B. Research hypothesis
YP |I. A subset drawn from a defined set or universe

l1l. A tentative solution or answer to a research
C. Sample of study

guestion

IV. The research question which has to be
answered

D. Research tools

Choose the correct answer from the options given below:

TA-IV,B-LC-ILD-]|
ZA-IILB-ILC-1,D-IV
3A-LB-ILC-1ILD- IV
4 A-ILB-IV,C-|,D-1l
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21052918032. 4

Question Number : 8 Question Id : 2105294559 Question Type : MCQ Option Shuffling : No Display Ques
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gai-1 I Taii-1l & Gy aferd &4 :

Tl Tqal- Il

il
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LA-W.B-C-ILD-i
ZA-ILB-ILC-|L,D-V
FA-LB -G E LD =Y
4 A-IILB-IV,C-1,D-1l
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2ABCDE
3.A.CBDE
4B A CDE

www.FirstRanker.com
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1.ADBCE
2ZABCDE
3.A,CBDE
4B A CDE
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Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only

www.FirstRanker.com
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Read the passage carefully and answer the questions that follow
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In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is alsc one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many cecmpanies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product’s price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors’ strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

www.FirstRanker.com
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Question Number : 11 Question Id : 2105294563 Question Type : MCQ Option Shuffling : No Display Que:
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted
2. Money was charged for product or service
3. It provided options for buyers
4. It promoted non-price factors

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. It is rigid in character

4. It ensures channel commitment

www.FirstRanker.com
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Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer’s value perception

4. Company's quest for high profitability

www.FirstRanker.com
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What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, B and C only
3.C, D and E only
4. B, C and D only

www.FirstRanker.com
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Sub questions

Question Number : 11 Question Id : 2105294563 Question Type : MCQ Option Shuffling : No Display Que:
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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1. Had A, D3R E
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3. ®»aaC, D3RE
4. HadA B, C AR D
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When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient

e TR, AEREG A B Skl B 9gldl 6 a8 98 oldl 6 ;

1. Wifd®
PR=CIGHIIEE
3. PAlHD
4, &ifore
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Classroom communication is

A, Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only

www.FirstRanker.com
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes

precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Match List | with List Il
List | List 11
Communication barriers Description
A. Semantic I. Lack of physical clarity in channel
B. Psychological Il. Faulty message
C. Personal Il. Poor retention
D. Physical IV. Lack of time

Choose the correct answer from the options given below:

LA-LB-ILC-iLD-V
ZA-WB-HLC- VD]
ZA-ILB -, C-1,D-1I
4 A-IV,B-LC-I,D-1
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U9 & HaY  |f[daR

A. Tsgrd® . GRUT (@) § Hifde @yl & 34E
B. HRlaq® I1. Zfequf dew

C. fderTd 111, ey ®Ife BT Sauru

D. Yifd® V. 9T &I 4G

1 faU U fadedl & 9§ U1 3wk & 90 & :

LA-LB-ILC-iLD-V
ZA-WB-HLC- VD]
ZA-ILB -, C-1,D-1I
4 A-IV,B-LC-I,D-1
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Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

EIEEAGRIE AR

TUA-1 ; Yol AR Telin! @1 1Y ITF B H HMARS ¥aY gial o
®YA-1l : T8 37 ae/l & AGH Y Ybal & Jcgd b HRU HHI Bl o
IUgad Y & 3Tt | Fgifed fdeeal § 4 w81 W I -

1. YT 1 3R 1 SHT T B
2. YA | 3R 1| §HT TTad B!
3, HUH-| 9 &, fdo=g HYH-11 Ted B

4, HYF-| 39 B, foog Y- E_E’pl\g\klw.FirstRan ker.com
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Options :

21052918077. 1
21052918078. 2
21052918079. 3
21052918080. 4

Question Number : 21 Question Id : 2105294573 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1.10 km
2.12 km
3. 15 km
4.18 km

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

U oafad 22 fortft &t gl &1 4 92 1 Ry o gas SR ddyrd @i gie I oo 4 fefly et
HR 10 foefly o1 &) 1 T a0 &dl & | 39P gRI gad ad &1 115 g1l (a1 & ?

1. 10 TopHl.
2. 12 foodl,
3. 15 foodl,
4, 18 fopl.

A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

ik

17

2 2

11

5 '

13

4

19
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Question Number : 22 Question Id : 2105294574 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s ORI T B X 39 3 U6 fm g Afg T4 i gfg I i g SR e H U 8
uciqnmn|%’ﬁ"f+ieg4|gé‘r~a1!d”|%l%qﬁﬁuﬂ@rw%?

T

Consider the following number series
0, 6, 24, 60, 120, X
What is the value of term X7

1. 180
2. 210
3. 240
4. 156
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Options :

21052918089. 1
21052918090. 2
21052918091. 3
21052918092. 4

Question Number : 23 Question Id : 2105294575 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gifdd de=ar SJTQ'?H’J? CEREAIEL
0,6, 24,60, 120, X

XBIAFHIG ?

1. 180
2. 210
3. 240
4.156
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Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes

Gl oidl U1 i 3{T-3a 9l ol of U edl & H: 10 e 3R 15 e § R 9%d o
Ofg AT OISyl &1 o1 &1 YR & 70 Uep -T1y Wid o e of S &1 WA ¥ fooamr geg o

1.6 e
2. 8 fe
3.75 fiAe
4 9 fAe
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Question Number : 25 Question Id : 2105294577 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, cegi, egik, gikm, __

1. jlor
2. hjlo
3. ikmo
4. ikmg

iicrd Xeg $aa H STl e 1 BHI 2
aceg, cegi, egik, gikm, ___

1. jlor
2. hjlo
3. ikmo
4. ikmg
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Question Number : 26 Question Id : 2105294578 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

www.FirstRanker.com
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Hi< I By AT T § - IRl 3ifHHY (A) IR GEI TS (R) B ;
HYHYA (A) : GO0 W[-HId, [-YIRT 3R T ARFa aaeidl o

d® (R) : G0 3 PR Ald! gR1 BT el 5idl & Sicd [Pl 30 GRI UG 8idl & AR 398
JRTTH B &l

I HUA & S1eid I Fifd el § J Waiie Iwed I 94 -

A) 3R (R) THT &1 € 3R (R), (A) I W61 ARBAT B |

A) 3R (R) GHT T8I € 3R (R), (A) B Hel RS 451 5

A}Hﬁ%mﬁ[ﬁ}w%t
A) TTcid & W= (R) Tel 8l

1. (
2.
=1
A (
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjecined but not

necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can

be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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F el By R e § : ugen SifimuH (4) IR a6 (R) §

aftrpy (A) A Tefies qul w0 9 qad 3R gue a8 81 3 99ad Bid & W farda:
Gafid Tel 5id o

do (R) : dich HARAI &1 UGB 3G 31 U JHadd: Wefiq 5] & SUfcid de ®al of odl &
fob Uil gdd ¥ U 4 Ydftd 21

Iuad HYHl & 3Maid H Fdiied [decdl H I Haiide I9ged 3w 9 ;

A) ¥R (R) GHI eI § 3R (R), (A) B! Uel AR B |
A) 3R (R) GHIT HE1 § 3R (R), (A) B Ul oI 951 &
A) T8l & U= (R) TTed B

(
(
(
(A) 7T & TRg (R) Tl o

1.
2:
3.
4.
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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14 €1 By fGT U § : gel sy (A) SR GO d® (R) § ;
S () O e IR R & 4 oierenef € 2, @) Ay, i @ o v a2

& (R) : Yfa &l 3R Sufual & aRife usqs &I guid! &, Jaid | GRH® [Garl &1
U@ AT

Iudad Sl & e | Fgitd e § 9 gaiive guged I 9 ;

A) 3R (R) GHI TEI € 3R (R), (A) B HE| SARAT B |

(
(A) 3R (R) GHIT HE1 € 3R (R), (A) BT TS SR T8l & |
(

(

A}Hﬁ%mﬁ[ﬁ}w%t
A) TTcid & W= (R) Tel 8l

1.
2:
3.
4.

Quantity and quality of a categorical proposition decide

1. Validity
2. Invalidity
3. Mood

4. Figure
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Question Number : 29 Question Id : 2105294581 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fopddl qeap ad a1 &t 91 SR uidw Hgfaiad &1 Hofg sedi €

1. 38l
2. HIYdT
3. g’

4. J1PId

Which one of the following decides the figure of a categorical proposition?

1. Major term

2. Minor term

3. Middle term
4. Copula

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fafeiad 5§ 4 ©F - 91 [ gl Y3y dh d1e] &1 HTPid BT oG Hal 6 ?

1. HHE UG

2. H#H Ug

3. HEOH Ug

4, TOIo® (Copula)
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Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 2019.

Year\Country x Y Z T

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X
2k
¥
4.7

www.FirstRanker.com
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Question Number : 32 Question Id : 2105294585 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which country registered maximum growth (%) by 2019 with reference to year 20157

1.2
ZiJl |
3. X
4.Y

For the country 'Y', what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2 ~12.77%
3.~13.25%
4, ~11.65 %

www.FirstRanker.com
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Correct Marks : 2 Wrong Marks : 0

In any given year, compared to the previous year which country(s) registered maximum growth
(%)?

1. T
2. Zandy
3.
4 Xand Z

Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
2:91.11 %
3.117.32 %
4.121.81 %

www.FirstRanker.com
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Question Label : Comprehension

i aifereT W faaR =3 9 2015 ¥ 2019 9 5 IUf F1 3@ & SRE IR ST (X, Y,
z, T) ¥ e wifa adftevia oet amar & ad-aw sies R v §1 39 siwsl ¥ onuR

U3 Uyt & I a'

RTTUT TG Fell &5 (GW) -
GL R X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Ul 2016 - 2017 & s (Y G A TaHG Sl &1 WG &5 T HAUHH 9fG (%) &9 Dl 87

1. X
2L
¥
4T
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Question Number : 32 Question Id : 2105294585 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HH-T & 94 2015 & a4 T 2019 7@ A UDHa0 gfa (%) ol Dl g ?

1.2
ZiJl |
3. X
4.Y

S 'y & [ AdIH g Soll & DI 319 9 gfg (%) oI Wwie ?

1. ~10.85%
2. ~12.77%
3. ~13.25%
4, ~11.65%
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Correct Marks : 2 Wrong Marks : 0

qdad a4 @ ga- H w168 1T ad | [ o=/ o6 &311 A ifieman 3f& (%) Tei @i 8 ?

LT
2.Z3RY

3¥

4 X3RZ

[t 9Rf <20 & e, 99 2015 & UgY H a4 2019 H Tdi@0d Sl &1 ITad &l H§ 999

i< (%) frcH1 8 7

1. 52.32%
2. 91.11%
3.117.32%
4.121.81%
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Question Number : 36 Question Id : 2105294589 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input Output Software
3. Basic Input Output System

4. Binary Inner Open Software

BIOS URAU M BT QW EFY 1 6 ?

1. T8 SR Ao e
2. d15-H SYE 33eqe Hredd
3. dff% 3Ye 3eye fiey

4, G2 3R iU Giwedar
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Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

HeR grEam & wfia gar |

1. DI cae
2. Hi-Tex a1 9idg
3. Gy

4]
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Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

UG WeRlied ed FHiied § § SiH-41 & g 2

1. 3@ (A12H)

2. g ay1 Ays

3. 013 91 quT IR 91
4 dere
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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TP RTTE : 1o B 3BT (4) 3R TR 31 9 (R) Pl T &;

HYEHYH (A) : Tl 9gd Y 3fHa1s Udus 3ude & dyl 39d! didmadl 96 el el
do (R) : 5U UHR 4 9gd 4 Urdysdl I U ! Uisashd &l 98- Udh do gAldl o
SUddd HYHl & e | FHifd famedl H U waiite Iuged 3 94 :

1. (A) 3R (R) GHFI Tel € 3R (R), (A) ®I G| U & |
2. (A) 3R (R) GHIT Gal § 3R (R), (A) B Ug! oaReT] 1ol 8
3. (A) Uel & UR=d (R) 7Taid B
4, (A) TG § IR (R) He1 &

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4. Decimal
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Question Number : 40 Question Id : 2105294593 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F O fgiferd & € g T vonelt # ugaa st 8 2
1. SR

2, diged
2. 58 sigHa
4, sfaaq

Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-

five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4. One-third
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
godisal fa®y Tedl & dod 0ed 4 H, a4 1990 - 2015 & &g Uid a8 T D G DI &l g o3

H UT B ST drell dférd T fn 4t 2

1. S8

2. GI-faers

3. dH-gTs
4.U® - faglg

www.FirstRanker.com
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List |

List 1l

Emitted Pollutants

Environmental Impact

A, Carbon dioxide

|. Formation of acid rain

B. Carbon monoxide

II. Toxic and are carcinogenic

C. Nitrogen oxides

I1l. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons

IV. Contribution to global warming as a

greenhouse gas

Choose the correct answer from the options given below:

LA-W.B-C-1,D-1
ZA-W.B-K,C-1,D- Il
SA-W.B-HBC-ULD-|
4 A-1LB-ILC-ILD-IV
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i1 &I Gl-1l & g1y Gaferd &Y
gl -1l
Joafoid UgN® TR THIG

A DIE- SHATRS || 35 gu @&l HH0
B. ®la- AMITES |18 Ul TGRS
C. AIgCIoF ATz ed (I, fauan au1 45 i IR0 &1 HRu

D. s 3R Iv. T% UH-8139 718 & ¥U H dfdd arg= &1
HESIEIER: CAG
i feu 71U fadel 5 © Ul 3T &1 99 &9 -

LA-W.B-C-1,D-1
ZA-W.B-K,C-1,D- Il
SA-W.B-HBC-ULD-|
4 A-1LB-ILC-ILD-IV
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Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

AL USA

B. China

C. Russia

D. India

E. Japan

Choose the correct answer from the options given below

1.ABDCE
2B ADCE
3.B.ADEC
4 A B, D EC

www.FirstRanker.com
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&3l & 3@ Pla--SRdEs 3o § 3% dNGH & il HH9 4 Jal H4 &I UgdH B9 -
A. UHY

B. T

C. =49

D. YRd

E. SO

- feu 7Y fgoedl & O 981 SWR

1.ABDCE
2B ADCE
3.B.ADEC
4 A B, D EC

www.FirstRanker.com



A Firstranker's choice

:l », FirstRanker.com

www.FirstRanker.com www.FirstRanker.com

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at

efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct
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i gl By fau U § : ugel ififeyd (A) IR GEU dd (R) & -

HHBYH (A) : UL HYDed HUaSH Tigd Dig Ua- 9ad! 60% U 65% DI DDA TR
T @ fere Ffia &t 51 gl g

do (R) : UG- go@] DI PG 39S HTded Uraal IR [ $dl 81
I HUA & S1eid I Fifd el § J Waiie Iwed I 94 -
A) 3R (R) GHT F1 § IR (R), (A) B Wel SRS & |

A) 3R (R) GHT T8I € 3R (R), (A) B We!l oIS T6] 5

A) HE1 & U3 (R) 7Taid &

1.
2. (
3.
4. (A) TTEId 8 U (R) T&l 81
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From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. Band D only

2. A, B and D only
3. B, D and E only
4 A B, DandEonly
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i fGu 70 3fueT —gHi®eu Surl & §, 39 3UM (3 3Urdl) @ ST &1 forg/fog Sritd &
&9 4 qiffgrd fohdr & bl & -

A. €1G deey

B. YfH - T &7 iRy

c. 91 2Meifrd & § R &1 FW FHI1 I6H]
D. S8 BEHH

E. T®M GRI&T D& Bl Hoigd dAl

F feu e faweal & 9 udl ST -

1. HaaB AR D

2. BaA A B3R D
3. ®aaB, D 3IRE
4. HadAA, B, D3IRE
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Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A DandE only

www.FirstRanker.com
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WY & FHTAG] S H IR &R U JeRarg] Ri&T & fHgiciad H 9 i &5 o 9ged
{quadrivium) @ &mﬁhmﬂ%%’mW?

A, ST

B. T

C. DI

D. WIfean!

E. HiE

- feu 7Y fgoedl & O 981 SWR

1. HaAA, B 3R C
2. ®adaB, C3RD
3. ®»aaC, D3RE
4. HaaA D3IIRE
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National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education

a¥ 2003 H HId GH1Y fGHTH HAT (MHRD) BRT AP Uit dafdd (e srdsd
(NPTEL) & FHITREd &1 Turadr § 9YR &3 & ol T [l 747 o

1. Tafdear fRiam
2. Dy fRan

3. Sl e
4, faf¥e e
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The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025
2. 2030
3. 2035
4.2040

HYad W RT3 2015 H FuiRa Yurwiig faerg deal (U Stsh) & 4 a6 Ud 6 51 &1
EEACES

1. 2025
2. 2030
3. 2035
42040
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Match List | with List 11

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

l. Professors, teachers and researchers working
A. Mode 1 - Cross border supply

abroad on a temporary basis

Il. Language training companies, Local
B. Made 2 - Consumption abroad g J F

university and Satellite campuses

. Ill. Distance education, Virtual education,
C. Meode 3 - Commercial presence

Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

LA-W.B-LE-ID-1
ZA-ILB - N C-IL D~
ZA-I,B-HLC- |, D~V
4 A-LB-ILC-IV,D- 1l
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et | T - o e ¢ e 3 feg & slaria R Gareit &1 ool @ v g 8
- g1 281 H 37 Harsi & 3eEv §

Tl -1l

A TSfA-1: E-OR |1 fGe=n o oreurl offuR R 1 &Y 36 Whey,
TRt fRrafds 37X el

B.UG-2: g d | yrn uflenr dufal, v fyfaeney iR
|qd Jeage g

C. UZid-3 : Tioiedd 111, 315 1 <1 & H1egs U IR, AT f2uar
ELIIG] BIYNE W&

D. UGld-4 : Wipfad  |Iv. Bis faendf a1y o fovdl ureuses / g3
cafgdsd &1 MaFd [ @H®d 8 AHie & U g9l o¥ oidl &

- U 7Y fgoedl & U 951 IWR T

T.A-WV,B-1,C-1l,D-Il
ZA-LB-IV,C-ILD-1
SA-ILB-ILC-1,D-1V
4 A-1,B-ILC-1IV,D-1l
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Ashtadhyayi was written by

1. Chanakya
2. Jivaka
3. Katyayana
4. Panini

AP & TED &

1. dIUdg
2. Sffardl
3. I
4, gIforEt
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Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529132
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105294604 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following are symbols that communicate or represent an idea, though the
symbols may not picture the actual object?

1. Ideclect

2. Albhabet

3. Phonogram
4. Ideogram
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Udi® & ol [yl [9gR ®1 YUY 91 Uideeu0l &id &, 9414 g8 31a99® ol & (& Udid
dRafad g% ol fAfEd o -

1. Tfad Siel
2. gofaren
3. Tgo g
4. Mg

Which one of the following is NOT true for competence?

1. It refers to the speaker's knowledge of the language.

2. According to Chomsky, linguistics before generative grammar has been preoccupied with
performance instead of competence.

3. It refers to a system of rules which a speaker masters to be able to produce and understand
an indefinite number of sentences.

4. It is a non-idealized form of language, focussing on what is being said.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

e & IR A FEfafad A 9 g8l TeT 8 2

1. THHT HaY gaal & 3 IR U E B |

2. AR & SUR, Uo-d vl & Jd HIETIaH &l & Sod SR IR 9 Y|

3. 3OS Uy U 8 WUITel 9 © Tored oriiigd 9% H aradl @f 953 3R sig4 & O &g
a1 HAT0TaT W &3l o

4. T Y9 &1 IR-OHdIdd Wed © forgd ®el o aral ad 0X 31 oidl &

Which one of the given sets of verbs selects a ‘pleonastic’ subject?

1. Rain; seem; appear
2. Sleep; fall; die

3. Kill; hit; dig

4. Give; send; put
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Correct Marks : 2 Wrong Marks : 0

Fafaiad 5 9 o1 9 a1 | efieucy ol s ?

1.39 : 91 ; 3
E,Eﬁq:ﬁﬂ:gﬁ
E.ﬁv_ﬂ:%ﬁ’:ﬁﬂ
4.%:@3:&3

Which of the following distinctive features can distinguish between four major classes of

speech sounds, i.e. consonants, vowels, liquids & glides?

1. Vocalic and Consonantal
2. Vocalic and Syllabic

3. Obstruent and Continuant
4. Syllabic and Approximant
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digp TaA1 3T oo, TR, e W HR Gt o a9 FHufafad ¥ ¥ fog pyes fagivdr & uR
W favg (g1 & Gbdl 6 -

1. WIHEHD IR AIED

2, WD 3R NS

3. AgERd 3R Yaq
4. A&RE SR A @

Phonetic transcription implies

1. Narrow transcription
2. Transcription based on articulatory/acoustic/auditory properties
3. Transcription of speech sounds irrespective of their function in a language

4 All of the above
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WS e B ad & -

1. G 1ol i
2. =R / G- / BiVie 01 & YR W Aed
3. U a1 A1 & 1 & - W §1R 3901 Ao

4, 30ed gt

An Electropalatograph produces a continuous record of the articulatory process of certain

speech sounds, which is useful for studying the

1. Place of articulation of consonant sounds

2. Manner of articulation of consonant sounds
3. Voice properties of consonant sounds

4. Voice properties of vowel sounds
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SadelUce D B Hfduy dif Wl @ IERUTES Uil &1 sfave Rers Ukd eidi & T8
Fafoafaa o ¥ foue siwgma & fou Suanfi 8

1. o WA Bl SERY U
2. T a1 & SR @1 131y
3. o WA & Iy - 70

4, ¥ A & "y ]

In order to draw a vowel quadrilateral /vowel space,

1. Fq is plotted on X axis and F; on Y axis

2. Fais plotted on X axis and Fy onY axis

3. F» is plotted on Y axis and F; - F; on X axis
4. F4is plotted on Y axis and Fz - F; on X axis
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TR gquGd / TR [a%R &3 & gy & A

1. F, I X & T AR F, B Y & W i fdar oan e

2. F2 X 31& W Fy Y 3& R 3ifed foar sidr 8|

3. F> @I Y 38 T 3R F>-F; I X 318 W 3ifoed oo 9 g
4. F, T Y 38 W AR Fo-F, DI X 38 W 3ifded fpar Iar g

From a Chomskyian perspective of first language acquisition,

1. rules are learnt after being taught explicity.

2. rules are learnt consciously after learning them from the speech of others.

3. rules are internalized consciously, after being taught by language teachers.

4. rules are internalized sub-consciously, after deriving them from the speech of others.
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TYH I 354 & dae H 91! g1 Fidulicd SP®it & 38R -

1. 999 7 AR W U 9 & 91g Sfeid gid 6

2. oy 3= oafaaal & a1 U SifRTH & UMTq Tedd slo Gid Sd 2 |

3. Fag ywT et 51 Ram & U 99 Sl TS9N [T ofTd &l

4. 1999 3 oafadl & a1 U 3 S ©3H & 916 SHada- el H SfeTdrd fhy oid & |

A language is a pro-drop language, if

1. It allows subject pronoun to drop.

2. It allows the indirect object pronoun to drop.

3. It allows the direct object pronoun to drop.

4. It allows the pronoun in a prepositional phrase to drop.
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1. 59H Sl Ya-H &1 A 51 6l |

2. 294 3fJdd &4 Yo" @& &g sidl gl

3. SUH U4 ®H 991 &1 ad sidl 81|

4, 509 qd@iig ygds & goq™ &1 @d sidi ol

In the X - bar diagram of the structure, 'The Book of Stories by O'Henry', The' is

1. Sister of N single bar
2. Sister of P double bar
3. Sister of N double bar
4. Sister of P Single bar
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G gD b TRIS a5 TR NI P I §R - SHE T T 8

1. N Uhdl 91X Bl (e
2. PEO ER @l fO&
3. N g9 9R &I %y
4, pUGHT R B &

The term used in Sanskrit grammar for a special class of twenty prepositional particles prefixed
to verbs or action nouns

1. Nama
2. Upsarga
3. Nipata
4. Akhyata
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Txpd STHRul H forgradl siyar fhargads Yl ¥ Gaudd diel s Qaariiy fa=iy a4 o ferg
JIad UG §

Expressions such as 'therefore’, "however', "on the other hand", relate a portion of earlier

discourse to later part. They are categorised under

1. Stylistic marker

2. Discourse marker
3. Discourse deictics
4. Discourse pattern
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TIRBIT, BISUGR, A § I oo w14 sfiaafaqat ugd &1 Uifdd &1 91 &1 Wifdd T ddy
T &l &, 3 fpad Jafa arffed far s 82

1. Bdd [e®
2. yifad fas®
3. Tjifgg et
4, Tifed Ued

"She was wearing a charming smile and a pair of new shoes”, is an example of

1. Ambiguity
2. Zeugma

3. Vagueness
4. Fuzziness
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1. TiegTurdedr
2. oGl

3. Egpdl

4, YYTmgT

An expression is said to characterise if it has more than one possible distinct meaning
1. Ambiguity

2. Vagueness

3. Haziness

4. Fuzziness
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e fodt sifiroafad o e T 3ffte gy s Gua gl dige &1 SHfcE deadl & :

1. Gfendear
2. 3 gEdr
ERUINIE T
4, F3HUH

The central topics of linguistic pragmatics are those aspects of meaning which are

1. Dependent on dictionary meaning
2. Dependent on context

3. Stable meaning

4. System for communicating
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YIfagt Ydbd WAl fagi= & bad (95 3% & d Usq e ol :

1. o & A At s g
e mfnkh o ®
3w T §

4 TUNUIdA§

A sound change in which a sound is inserted at the beginning of a word is known as

1. Anaptyxis
2. Prothesis
3. Syncope
4. Aphaeresis
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s W uligdq forgd it weg & My o ol W7 &1 vau e 9ar & -

1. faumd

2. AfeHeld
3. ge@g

4, TG w|Ta

A method which is suggested by Swadesh (1940) investigates the relationship between two
languages to determine approximate dates of separation of the two languages is known as:

1. Lexicostatistics

2. Multilateral comparison
3. Glottochronology

4. Internal reconstruction
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TG (1940) BRI GITs 115 fafy fTd &f el & gyga<ol & o e @ Hufkor &
e &1 HIwTel 3 A Ges BT SF9uU [y ol &, 58 o U3 ¢ el B

1. Xleq GiReTDH]
2. SgUETg ga-n
R CAREEACRIE]
4, e gAE

By which one of the following laws, we expect the / b / of Sanskrit to correspond to / p / in
Germanic and we expect Germanic / b / to correspond to Sanskrit / b" / and Greek / ph /7

1. Grimm’s Law
2. Grassman’s Law
3. Verner's Law
4. Watkin's Law
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& YR TR 1 Ug De Ubd o 1 Uedrd @I |b| S & |P| R S &7 |b| , T¥d @ |bh|
HR e & |Ph| & T B -

1. B ar
2. rEag Al
3. gd al
4, FrefE-g al

A sound change, in which a sound is lost and another segment (usually a vowel) is lengthened

is known as

1. Compensatory Epenthesis

2. Compensatory strengthening
3. Compensatory lengthening
4. Vowel lengthening
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TP & URG0H [orgH B O g ol Sl & 3R PI3 3 S (@R U6 W) GHied ol 6,
T Feard & ;

1. WA Uil
2. UfdqI® Gegldiul
3. DR e
4, TR gidfe

Which of the following planning types involves the selection and codification of language
norms like the development of orthography, new sources of vocabulary, dictionaries etc?

1. Status

2. Corpus
3. Research
4. Lexicon
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SMgToT 5 auf - {9, Tearacl, Teadiul & 8 Fidi, Sdlig &1 [dmrg ol 4T 76!
B T4 3K Do AT © -

1. Bieufa

2. I

3. TNy

4, TaHIuY

The language that has provided most of the vocabulary to a pidgin or creole is called

1. Uniplex

2. Concord

3. Lexifier

4. Shibboleth
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fufor sryar fopaia &I Tegdat § 9aiid® gHIGH ®I-ard HTel &

1. gHwag
2. Jf=afd

3. PIENBRS®
4, farEiay

The term wherein speakers are seen as proactively designing their speech to the needs of a
particular audience and encapsulation of the presumed motive for the behaviour is

1. Speaker design

2. Social Network

3. Participant observation
4. Audience design
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9g IR Ue foras gadredl @i foadt a1 fa=iy & HTaRgddEy Yihd w0 U JHUHT 4N
HYmiedd @ R WYIG o U SH14d Ugied & T4ifed &4 dld & ¥4 4 ¢El Jidl & -

1. Todl By
2. YHI® Head
3. Uferumft T
4. 81T AP

Which of the following is true for the 'principle of accountability'?

1. If it is possible to define a variable as a closed set of variants, all of the variants (including

non-occurrence if relevant) must be counted.
2. If it is possible to define a variable as a closed set of variants, only the non-occurring

variables must be counted (excluding the occurring ones).
3. It also applies for pragmatically motivated variables like discourse markers.

4. It does not apply to grammatical variables.
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Correct Marks : 2 Wrong Marks : 0

IRaii gl S ady A FaiRa AT s 9el 8 2

1. 7 i ufvad @1 9= & TP Uad 99 @ 0 J aRyitd s gva sl al ot =f @l
UTERT® Bl df 3Uded died) DI 0T @G ©f IH! el

2. I fordl uRad ®f @Rl & Ush Ygd 998 & ¥4 H URHING S €44 81 dl Dhad AUde =i
D1 NI &4 U T0H] BT 9] M8 (TP o1 B IS TY)

3. 7% Uifad el o1 Tages URd == ) Wi arpelar 2|

4. % @0 U] 1R AL 8! eidl o

An aspirated series of both voiceless and voiced stops, producing a four-way contrast / p, ph,
b, bh / at all five basic points of articulation is

1. Normal and distinctive in all N/A languages.
2. Is distinctive in some N/A languages.

3. Is distinctive only in Western Hindi.

4. |s distinctive only in Bihari.
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U 3R Uiy Wi @ &1 T YEal ool 3w=R & 94 Uid 9d SR ®HE ) 9qWed
AU S /0, B, 9, 4/ 397 oidl ol 59 Yey § Hgfoiad 5 4 7 981 &

1. 78 gyt U7 33 ¢yt § gy SR fafp & |
2. UE Diaqd T 313 T HTETi § {42y 2|

3. Og Uiyl RS o fafw 21

4. Ug $aq [9gRI | AP 81

In modern linguistic theory, "sprachbund” usually designates

1. Linguistic features shared by number of unrelated languages.
2. Linguistic features shared by cognate languages.

3. Linguistic features shared by geneclogically related languages.
4. Linguistic features shared by non-contiguous languages.
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Correct Marks : 2 Wrong Marks : 0
HIHS HETawHl gid ¥ » SiRade * H UH=ad Yeriied fogr s g ;

1, Eg U9 J fgeme gy Gees

2. =ira ymare & faed SenyeE! Geius

3. gEmae 4 Hag vl # [geme ey f9we
4. TR Ggad® YTl A fagsE TR faees

Despite the fact that N/A languages are characterized by distinctive aspiration, which of the

following lack aspiration?

1. Assamese and Romany.
2. Sinhalese.

3. Classical Marathi.

4. Gujarati.
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39 T @ S1geG (o U #fTs T HIwIe | &fpa: Aem gral 5| Meiiie | 9 fegd Agmm
Tl il :
1, HOH AR IO

2, fHgdi
3. TIET B081

4, TERTl

Garhwali and Kumaoni are grouped by Grierson as

1. Central Pahari
2. Western Pahari
3. Northern Pahari
4, Eastern Pahari
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fird 3 Treard SR R B P UM R H W@ B

1. 9 Ugrel
2. ufel ggrs!
3. I UgTSt
4. gdf uerst

The other branch of Austroasiatic stock Mon-Khmer, is represented by

1. Nehali

2. Burushaski
3. Khasi

4. Mundari
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Heefaae® €id Ji-4 G5 §1 3] 1] & iaeun Fgfaied 5§ 4 fFad el :

1. fgTel
2. §ERED
3. @yt

4 it

Brown's 1973 study on the order of acquisition of certain grammatical morphemes in English,

primarily revealed that

1. Children acquire morphemes in different orders.

2. Children acquire morphemes at different rates.

3. Both Answer option 1 and Answer option 2 above are correct.
4. Answer option 1 is incorrect but Answer option 2 is correct.
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TSIl HTET H BId9d ATH e TUH & e HH & 989 H §81 & 1973 & f0gT ¥
Jguled g3 i ;

1. TP 9 ST H§ © 09 $1 31 3fold & ol

2. FTA® a1 Tid 9 ¥ 109 1 34 Sffoid dd 6

3. IUded 1 3R 2 SH TEl &

4. 3 1 7ad g, fb=q 3T 2 Ul ol

CDS is like Baby Talk which is

1. The speech of the babies in early development.
2. The speech of the adults and older children directed towards babies

3. The systematic record of babies' early speech.
4. Babies interaction with mothers.
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4l S1 U9 919 91di (961 2ld) D e § ol ;

1. RfY® [GHTg ®f se T &7e a1 ¢

2. WG 3R WUg S| gRI FRggei & yid FefRd aig 5|
3. Rrg1eft & RS a1 &1 wHeG Rels o

4, Tergpef @ ol =1 T sia:feean

Patient-centred approaches to languages assessment aim to

1. Describe patient’s language deficit and ability to communicate in everyday situations.

2. Determine to what extent the patient’s language conforms to normalcy conditions.

3. Determine to what extent the patient's performance is influenced by age, sex, culture and
other such factors.

4. All of the above.
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Y] Hedich- @ IR dhirgd JUFTH Bl &l :

1. o] BT FRufadl o 20 & HIST - 319 AR 34®| YUY &5 & AR Bl 6|

2. 39 &1d &I TR &3] & fob 90 @l YTl foom Ty 9o Qg &= & &Y &l

3. 39 &1d @1 TR 3] & [ob 9T & B-IGEA [y a1 9o 311y, foff, Ieefd JIR Ud
®R®! 4 YHIfdd giar g1

4, 30 gt

"Take the leap of joy" is an example of

1. Metaphor
2. Metonymy
3. Simile

4. Homonym
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1. &Ud
2. SUTET
3. JUHI
4. HHATH

In lexicography, "field label” refers to

1. Meaning in a certain sphere of activity.
2. Expert concept.

3. Expressive meaning.

4. Entry.
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DR BT H " Bics dea dradr A 5 :

1. TTiafafy & ofauy &7 7 i
2. fagmg s@yron

3. AfAfdam®

4, Uawl

A type of reference work which presents factual information in a wide range of subject

disciplines is known as

1. Dictionary index.

2. Electronic Dictionary.

3. Encyclopedia.

4. Etymological dictionary.
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U YR @l Yo orl fod dAge quafaurs § it quee Yo eidl 6, A4l dedidl ¢ ?

1, TG ®IY [Gaiorm]
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3. faye

4, HAS Tegdly

A translation that takes greater account of the aesthetic value and allows for the translator's

intuitive empathy with the original is

1. Adaptation.

2. Free Translation.

3. Faithful Translation.
4. Semantic Translation.
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1. U

2. Had J{dla

3. Ul 3dlq
4. Feadf TG

Given below are two statements:

Statement I: 'The subject of an intransitive verb and the direct object of the transitive verb is
in the same case form, that is, absolutive case,’ defines the Ergative languages.

Statement lI: Languages with Ergative - Absolutive case system may have object - verb

agreement.
In light of the above statements, choose the correct answer from the options given below :

1. Both Statement | and Statement Il are true.

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false.
4. Statement | is incorrect but Statement [l is true.
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Question Number : 86 Question Id : 2105294639 Question Type : MCQ Option Shuffling : No Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

CIERA T ATk M

FYF - | ; HFHD (B BT Hdl AR FHHD 601 B UYH HH GIHPRE &0 1y FufEge
FRS &, T8 Hgdl Haref of IRUItd Hdr o

BYT - |1 : Tooell - FRUTAD DR YO aren {Turef & & - fmar sfafd 51 9@ o
IUgad Y & 3Tt | Fgifed fdeeal § 4 w81 W I -

1. DY - | AR DY - 1| GHT Tl o
2. Y - | IR TYA - 1| &1 Tad &
3. ®YF - 1 9 &, fobq &Y - 11 T B |
4. Y - | AT B, fbd BY - 1 T B
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Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A: An infinitive form of verbs does not have the tense, aspect and mood markers

and thus it can't be the only verbal element in the sentence.

Reason R: A sentence has to have a finite verb because of agreement with the subject and for
the purpose of case assignment (i.e. both INFL = Nominative & Verb = Accusative).

In the light of the above statements, choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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A3 Yifsa® o< T8l 6l 9@dl g

do (R) : fodl a1 & @l & Oy 35l & RO IR FRS G & Wi sfHarq: fadg
fepan g1 =R

1. (A) 3% (R) GHT Tl & 313 (R), (A) B! el ARAT &
2. (A) 3R (R) TH GE1 € U3 (R), (A) B gl o4& Tel &
3. (A) Hel & U (R) Wl Tel &
4. (A) 8l 981 8 R (R) WEI B
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Given below are two statements

Statement I: The Phonclogical Rules form a set of rules which mediate between the
systematic phonemic level and the systematic phonetic level.

Statement lI: The Phonological Rules of a language constitute an ordered set since the output
of the same rules provide input to the others

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
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Y 30 Bl g Hadl ol
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1. B - | AR TYA - 11 GH Tel B

2. YT - | AR THYA - 1 GHI Tad g |

3. %Y - 1 g &, fob=g Y - (1 TTad B

4 YT - | Td & g DY - 11 Gel 5
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Given below are two statements

Statement I: Copy theory of movement assumes that movement is a composite operation
involving two sub-operations of copying and deletion.

Statement lI: In the copy theory, a moved constituent leaves behind a copy of itself when it
moves, with the copy generally having its phonetic features deleted and so being null.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
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I dyAT & el O i feu e fgwef O U el 3w g

1. YT | IR 1 G T B
2. @Y | SR 1 gFl Tgl gl
3. Y | TEl ¢ fo=g YA 11 7T7d ¢
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Given below are two statements

Statement |: Semanticists aim to explain the meaning of each sentence as arising from, on the
one hand, the meanings of its parts, on the other, the manner in which parts are put together.

Statement lI: That is what a compositional theory of meaning amounts to.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com
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1. @Y | 3R || GH T8l 8l
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Given below are two statements

Statement I: All the languages that descended from a common ancestor are said to constitute

a family of languages.

Statement lI: Two or more related languages are sometimes referred to as 'sisters’ and
languages descended from an earlier language are usually called "daughter’,

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
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Given below are two statements

Statement I: Micro Sociolinguistics investigates how social structure influences the way
people talk and how language varieties and patterns of use correlate with social attributes like
class, gender, age etc.

Statement lI: Macro Sociolinguistics studies what societies do with their languages,
i.e., attitudes and attachments that account for the functional distribution of speech forms in
society.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
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Given below are two statements, one is labelled as Assertion A and other one labelled as
Reason R

Assertion A: The Dravidian languages are agglutinating.
Reason R: There are no prefixes or suffixes.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

TR Py RU TS : 1o @ AT (A) AR G &I dd (R) Tal ™ o
HIHEY (A) : SIdS HITE GRS & |

dd (R) : T99 Ud U 3Yal WR-Udd el gid 8

Iudad HYHl & 3o H Fgiied [deedl H 4 H8l 3w 91 -

1. (A) 3R (R) TFT TS & 3R (R), (A) BT T AR 2|
2. (A) 3R (R) ST TE1 € IR (R), (A) BT TET A= Tl 2
3. (A) Wel & U% (R) Hol Tel &

& oA b T&ﬁé"ﬂ‘l_f L -n—_ﬁ-é-n
A A DTl o 9V RTeT &l
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Areal linguistics has been facing the problem of the number of features
necessary to distinguish between proper "Sprachbund” and simple contact phenomena.

Statement lI: The similarities of linguistic area should not be trivial.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
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1. YT | IR 1 G T B
2. YT | IR || &F Tad g
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Given below are two statements

Statement I: A distinct difference between a phrase and a compound word is that a
compound word can be without a head, but a phrase can never be without a head.

Statement lI: English compound words such as 'ladyfingers’ and 'butterfingers' are called
exocentric compounds and none of the words in the compound, function as the head of the
compound.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
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Given below are two statements

Statement |: Spectrum of a sound wave shows frequencies of the constituent waves on X-axis
and respective amplitudes on Y-axis.

Statement lI: Spectrogram is a visual representation of all the three features of constituent
waves, namely time, frequency and intensity.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
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1. Y | 3R 11 ST T B
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4. ®YF |1 7ad & , fb=q YA 1| Tl B
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Given below are two statements

Statement |: Total loss of communication ability due to injury to certain parts of the brain is
referred to as Global Aphasia.

Statement lI: Loss of communication ability due to inability to comprehened any linguistic
communication is referred to as Broca's Aphasia.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
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1. Y | 3R 11 ST T B
2. YT | IR || &F Tad g
3. %Y1 9 &, foog Y 11 Tad B
4. ®YF |1 7ad & , fb=q YA 1| Tl B
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Given below are two statements

Statement |: Sign language is a system of communication that includes symbolic
language like any other natural, human language.

Statement lI: Sign language uses hand shapes and hand movements i.e,, visual medium
instead of speech (oral-auditory medium).

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: WordNet makes use of relational semantics rather than componential semantics

as the instrument of disambiguation.
Reason R: Expressing meanings as a combination of features which are correct and complete
is unattainable due to the world of concepts being a continuum and fuzzy.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Persuasive appeals couched in metaphorical language should be used.

Reason R : Advertisers recognize that much of our conceptualization of experience is
metaphorical and a great deal of our thinking is constituted by metaphorical mappings.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true
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Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Gender has disappeared altogether in Bengali, Assamese and Odiya to
which may be added Bishanpuria and Sadri.

Reason R: Far from being aberrant, this Eastern loss of gender can be seen as the outcome of
the phonolegical erosion of O/A terminations, and the absence of the sense of gender from

the verb.

In light of the above statements, choose the correct answer from the opticns given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

TR el sy e U §| e &l AHYH (A) 3R g & db (R) Pl T g

Y (a) : STTEH, ST 3R fEa yrwr F v uofa: fag 2w @ o famgfar 3R
GIedl @1 e foar o Todl o

do (R) : fagyefl 814 &1 91 di g2 1, gai &30 § o1 &1 g 3 1S U SaqH & WHhe
HUReA AR fobar T o Ui o 814 & ufahd & ©9 H ¢@l of 9hdl &

Iuad HYHl & 3Maid H Fdiied [decdl H I Haiide I9ged 3w 9 ;

1. (A) 3% (R) GHT Tl & 313 (R), (A) B! el ARAT &
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Arrange the following concepts in the order in which they are used in morphology to analyse
the internal structure of words

A. Morph

B. Allomorph

C. Morpheme

D. Zero morpheme

E. Zero-allomorph

Choose the correct answer from the options given below:

1.A CBED
2CABDE
3.BACDE
4 A B, D CE
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(A) =T

(B) SUEY

(C) &=itg

(D) T I

(E) [T JUEY

i feu v faeal © ¥ 981 S 9T

1.A CBED
2CABDE
3.BACDE
4 A B, D CE
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Arrange the following books in the correct chronological order from the most recent to the

earliest

A. Knowledge of Language

B. Minimalist Program

C. Syntactic Structures

D. Aspects of The Theory of Syntax

E. Lectures on Government and Binding

Choose the correct answer from the options given below

1.C,D,AEB
2CABDE
3.B.ADEC
4B A EDC

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

fgfafad ofadl @I snyedy T UE-ay SIaHd & YR U Gegaiyd HIfof -
(A) ATe 3P T

(B) Tafmfere umme

(€ Refdes wowd

(D) U AP & Wl A% fHedm

(E) Ta=d 3 TIa-iHe Uvs aRfeT

e fou 0 faeeal © O 981 I g

1.C,D,AEB
2CABDE
3.B.ADEC
4B A EDC

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following in chronological order

A. Grice, H. P. "Studies in The Ways of Words".

B. Austin, 1. L. "How To Do Things with Words".

C. Lakoff, George "Women, Fire and Dangerous Things".
D. Leech Geoffrey, N "Principles of Pragmatics”

Choose the correct answer from the options given below

1.A B CD
2.D,C B A
3.B,D,C A
4. C D B A

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

fFrafefad of PramaraR YouaRud o1 :
(A) TS, T3, U1, "ESIe 37 G 991 3P a5
(B) 3%, ©1. U4, " B3 ¢ § i fag agy
(C) ToI®, Sid * [d8H, BrR Us Sovy fifg:
(D) Tig, wamk! i ofie tfeay

- fu 7w fgoedl & ¥ W5l I gHU:

1.A B CD
2.D,C B A
3.B,D,C A
4. C D B A

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following books / articles in the correct chronological order of dates they were
first published, from the earliest to the most recent

A. 'Directions in Sociolinguistics’ by Gumperz and Hymes (ed).
B. 'Language’ by Bloomfield.

C. 'Languages and Social Networks' by Milroy.

D. 'Code Switching in Conversation' by Auer (ed).

E. 'Diglossia’ by Ferguson.

Choose the correct answer from the options given below

1.ABCDE
2:C, D, AER
3.B.EACD
4D A EBC

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

fFrafiRad Tw@! / sireral &1 37d JuH USIRH & SR g J 916 & HH H SIampHaR
Gogaireyd &1 ;

(A) IS R IS BRI UIied Srae=y 34 9if¥m! foifafes

(B) SHIhes dd Ta *

(€) FreR1g R I ddeis IS 9i9q Head

(D) TR R 4uIfed is KA 39 &aga

(E) T4 gRI Ifad Sracifear

FofiRea da we o o -

1.ABCDE
2:C, D, AER
3.B.EACD
4D A EBC

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following in chronological order

A. Fowler R.: Essays on Style and Language

B. Fowler R.: Linguistic Criticism

C. Fowler R.: The Languages of Literature

D. Fowler R.: Literature as Social Discourse

Choose the correct answer from the options given below

1.A B CD
2B ADC
3.ACD B
4D,C B A

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

fFrafefad of PramaraR YouaRud o1 :
(A) BIETR, 3R ; U9 31 ¥ed Us daw
(B) B3R, IR ; foigResd fofefisg

(C) BI3ER, 3R : G cigoil B fefeday
(D) BISTR, 3R : ferei=R ue 9 fssa
e fou 0 faeeal © O 981 I g

1.A B CD
2B ADC
3.ACD B
4D,C B A

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following books in the correct chronological order of dates they were first

published, from the earliest to the most recent.

A.'Language, its Nature, Development and Origin’ by O. Jespersen.
B. 'Course in Modern Linguistics’ by C. Hockett.

C. 'Sound Patterns of English’ by N. Chomsky & M. Halle.

D. 'Language as a Social Semiotic’ by M. Halliday.

E. 'On Nature and Language' by N. Chomsky.

Choose the correct answer from the options given below

1.ABCDE
2ZACEDB
3.BCAED
4B, CEDA

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

FfeRad e B 39t TYH USHIRHE @ (a4 & S14YR W Usd U &G & HH H SIasHuR
gogafeyd o :

(A) 371, T @d TS : 329 JR, Saaude s e

(B) 9. gThe Pa DY g AlsH fefafea

(C) TEIRD! 3R THEI $d WSS Teid b e

(D) TH.gelIS Pd THdel Tol U Hire Rafiies

(E) U9 9] $d "3 491 US e |

i feu v faeal © ¥ 981 S 9T

1.ABCDE
2ZACEDB
3.BCAED
4B, CEAD

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Arrange the following books in the correct chronological order of dates they were first
published, from the earliest to the most recent.

A. 'Course in Modern Linguistics' by C. Hockett

B. ‘A First Language: The Early Stages' by R. Brown

C. 'Principles of Pragmatics' by G. N. Leech

D. 'The Language Instinct’ by S. Pinker

E. 'On Nature and Language' by N. Chomsky

Choose the correct answer from the options given below

1.B.A, CED
2D,B CAE
3.ABCDE
4 CEDAB

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

fgfafad Teae! @I 390 JuH USRHE & [dfY & 9R Usd 4 916 & »H § DaeadaR
gogafed ot

(A) B 5 Aie feifiafiess -, . gfpe g1 fafa

(B) “T B oo : § 3T evid *, 3R, §15 g falad

(C) "TUfaue 3w Ursifeas © |, Sil.oA. o9 g fafad

(D) G T gfeae +, T, filaw g ol

() " 317 TR US TiaeT , U 9! g fafed

i feu v faeal © ¥ 981 S 9T

1.B.A, CED
2D,B CAE
3.ABCDE
4 CEDAB

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A non-finite verb in English can have

A. Person, number and gender marking

B. Tense, aspect and mood marking

C. Only aspect marking

D. Only tense marking

E. Only mood marking

Choose the most appropriate answer from the options given below:

1. A and B only
2. C only
3. Cand D only
4. E only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

STt yrer  Sfqe fea o -

(A) T=Y g9 IR &7 fAofg g1 gl o

(B) ®IT, U8l 3R gt Fofg g1 gedi g |

(C) Sad & fufg g1 9ol & |

(D) Bgd BT (Ui &l Idhdl 8l

(E) dhae gid (g g gdar g

i fau e fasedl o O Uailte Iugad 3w gfHu:

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

An infinite form of the verb in English has

A. No person, number & gender marking

B. No tense, aspect and mood marking

C. Only person marking

D. Only tense marking

E. Only aspect & mood marking

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. E only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Tl HraT H fobal o qHY T H ;

(A) TBY: ga IR feiv fAofg At giar 81

(B) PIC: U 3R g Fofg e e 2|

(C) bad Y& Y DI FAuig gldr g

(D) Bgd BT Ui Bl gl

(E) hae ugf IR g Aoy giar &1

Fafeiad faeedl § 9 Faifie Jugad 3w 9HY ;

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

In many Indian languages, a causative marker that causatizes the verb is supposed to
A. Increase the number of arguments/actants of the verb

B. Weaken the verb semantically

C. Make the verb infinitive

D. Make the verb non-finite

E. Make the verb into a noun

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. A only

4. D and E only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

ggd 4l YRag unrsH ¥ il fage forad fovar § o &1 IR Yid 344 gidl & 39d aR o
W&ﬁ&ﬂﬁﬁlﬁﬂ%:

(A) U6 b 39 TSP 991 U / Do &) 9E ¢ |
(8) THY (e =P ¢ fhar gaa g1

(€) 299 fobar qud &4 |

(D) 35 fopan sifaa g1 5|

(E) 59 fobar I &4 9|

i fau e fasedl o O Uailte Iugad 3w gfHu:

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A portmanteau morpheme is defined as

A. A morpheme that occurs in any environment

B. A form of a word that occurs independently

C. A single morph that can be analysed intc more than one morpheme

D. A morpheme that restricts the meaning of a word to only one meaning
E. A morpheme that changes the semantic meaning of the word

Choose the most appropriate answer from the options given below:

1. A and B only
2. C only
3. A only
4. D and E only

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Ugad F09 BT gfyTeT €1 o 9od & -

(A) T8 =i & w H o e f dgd g g sl

(B) U8 Weg &Y & ©Y H &l FRIMAT / Tdd &9 grar g

(C) U8 Ul ®fUH & ©0 H o5 [a2dyn e ¥ 3if8e ©UH & ® U fhar & 9ol 2|

(D) U wftg & =u ¥ forgd i 2reg & U™ & &ad U of 314 § 3ag fddr off 9%dl ol
(E) U8 ¥ftg & 9 ¥ forgd e 31 a1 96d ol &

i fau e fasedl o O Uailte Iugad 3w gfHu:

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

In the sentence, 'Anamika has invited him to the party’, the verb 'invite' has the following
A. the verb is marked with past tense morpheme

B. the verb is marked with perfective morpheme

C. the verb is marked with participle morpheme

D. the verb is marked with agreement morpheme

E. the verb is marked with conjoining morpheme

Choose the most appropriate answer from the options given below:

1. A and B only
2. B only

3. D and E only
4. B and C only

www.FirstRanker.com



:l », FirstRanker.com

l Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

"I o 3a1%es A U grgu | 3 '5arge " $ e &
(A) T fobar Yaodifeid &g 4 3mdfpd g

(8) Tg el imifei =00 T Safpd g1

C) T 50 P ©fUH 3§ SMafEd &

(D) Tg fopan 39l &9 9 smaPd gl

(E) Tg fopar Husi =fUH § 2mafpda &

i fgu e fawedl o © waffie 3uged IR g

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following are true for the minimalist program?

A. At any point in the derivation, spell-out may be applied creating a new dimension in
derivation leading to interface level PF

B. If the ultimate representation reached at PF satisfies the interface condition of PF, the
derivation is said to crash at PF

C. If, on the other hand, it does not meet the interface conditions of PF, the derivation is said
to converge at PF

D. New lexical items cannot be inserted after a spell out.
Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Fafaad 5 9 &1 9 &Y 30aqdie deH d e H Tol 6 ;

(&) i & o0 o, gy § 9y1 1AM Iford 2 9d-1 3ugad 8l 9ddl & fordd haasy
ey WY U U Bl o

(8) Tfe 1 uw & une 3ifem ufeeuur 4 O up 3 Sevthy hEieH &1 Ui sl & o o5 awdl &
a1 H $e1 91dl & [ d U1 U6 WX $He 5l 7T

(C) If¢ T 3R 304 Ul UF & Sy Td &I id o oidl & ol ogdi & a) H gl oidl ¢ b
75 0 Us W 3Hifgd g T gl

(D) U Xfet; Al I IR & UYTd SH-a-1Ud el bl o Gddl 5 |
- fu 7w fgoedl & ¥ W5l I gHU:

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The English Great Vowel Shift is also best known of all chain shifts where,
A. The vowel change from Middle English to Modern English is explained
B. The long vowels systematically get raised

C. The short vowels systematically get lowered

D. The highest long vowels get diphthongized

E. The central vowels get fronted

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and C only
3. A, Band D only
4. D and E only

www.FirstRanker.com
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A Firstranker's choice .
www.FirstRanker.com

www.FirstRanker.com

Sfierr ge aida R gt s ufgfaal o gaifte gidwerd & foad -
(&) TEOdTcl s I sy RISl o TR uladd &1 guiH faar g

(B) Tl a1 H oyafeyd Wqfien vl Bl &

(C) Y TR H YoUaiyd €U ¢ [Gghiaxu giai ¢
(D) S=H &Y ¥R S9adied ald &

(E) PoiT TR TR &7 91d o

i fau e fasedl o O Uailte Iugad 3w gfHu:

1. Had (A) 3K (B)
2. ®ad (A) 3R (Q)
3. ®ad (A), (8) 3R (D)
4. Had (D) 3R (E)

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

The Altaic hypothesis which is linked with the Ural-Altaic hypothesis connects or relates the
distant genetic relationship between languages

A. This hypothesis relates Turkic, Mongolian and Tungusic together

B. This also relates Korean and Japanese together

C. The Altaic traits include vowel harmony, simple phoneme inventories and agglutination
D. The Altaic languages are highly prefixal

E. Morphology of Altaic languages is very complex

Choose the most appropriate answer from the options given below:

1. A and B only
2. A, B and C only
3. A and C only
4. D and E only

www.FirstRanker.com



:l », FirstRanker.com

l Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Heegd UGS ol I - 3fecsd U@l U Ueftd g yiursil o §ig g3y Hgie dey
1t &dl &

(A) Tg UR@eAT gfdhes, THifer 3R ¢gfie & did Yey wiftd oedl 2|
(B) T8 BING 2R U & &g Hi T8y -Iftd ad! &

(C) Hecgd 101 H e QUvfd, = WY Oi 3R gieH e gial e |
(D) e3P HINTE fefie gd Uefd giell |

(E) 3fecsd HNTSH &1 ©ufayH Jd¥® Jied ol

Hi fou v fased! & O Uaifte Iuged 3 9T :

1. Had (A) 3K (B)
2. ®ad (A), (B G?R(C}
3%?:13{1&}61’1?&

4. Had (D) 3R (E)

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Analogical levelling in Historical linguistics reduces the number of variants a form of the word
has

A. This process worsens the uniformity of a word - paradigm

B. This weakens the semantic content of words

C. This process makes the paradigms more uniform

D. This process helps to undo the alternations that the forms must have undergone

E. The English words old — elder — eldest > old-older — oldest is an example of this process
Choose the most appropriate answer from the options given below:

1. A, B and E only
2.C, D and E only
3. A and B only
4. B and E only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

tlaeiie yT fagH o Grexgqas Wel [odl Weaed & Uiddl ®1 S8 &8 &3 odl &
(A) T Ufha bl Tag - UG B UHEUdl I YP B ool 6|

(B) T8 g & 3T 312 & HHOR a1 ¢al |

(C) T Ufchal wuraied! @ e UHed sl &

(D) Tg Ufshdl ¥l & gU gacldl ®l Ui adl &

(E) IS & et HE — TS > IS - A — 3dicewe o4 Uihdl & 3o g

i fau e fasedl © O gaifte 3w g :

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following sentences entails, "The students liked the course"?
A. The students didn't like the course

B. The students loved the course

C. The students disliked the course

D. The students despise the course

Choose the correct answer from the options given below:

1. A only
2. B only
3. Conly
4. D only

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

www.FirstRanker.com

fafafag o € foog ar9g &1 3 & o - [qenfdaf 3 ureu®a ®f vdg foar.

(A) faenfifal @ ureaued Ul Jal STl

(8) faenfifal &1 ursTHT g4 udg em

() Tenfifar ! ureum feepa U 721 omT|
(D) Taenfiat &t ureumy g=s @

- fu 7w fgoedl & ¥ W5l I gHU:
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following are true for Creoloid?

A. It is a variety of language

B. It is a process of Creole formation

C. It bears linguistic resemblance to Crecle

D. It lacks a histery of origin in a pidgin language

E. It may or may not have a strong tradition of use by native speakers
Choose the correct answer from the options given below:

1. A, B, Cand D only
2. B, C, D and E only
3.A,C DandEonly
4. B, Cand Eonly

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

foraras & eR d Fgiaed S wwgi 8 2

(A) T8 HI9T g 5|

(B) UE fopaid Yoid ol ufhdr g

(C) 599 foaid & Y HTWTTaRT= GHTaT giell 81

(D) 359 fd! ffEa YT ¥ 3¢ side™ @ THORI &1 AYE Bl 6|
(E) 9 ArqueT U1l o UgiT & Joigd UeuRl el Hi 5l 9ddi el
Fafaiad faeedl & 9 w8l SwI 9 :

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which of the following are true for Elite Closure?
A. People with power use language to reproduce their privileged positions
B. People without power shun the language/languages of the privileged class

C. Myers-Scotton used this concept in her work in Africa where colonial languages are spoken
by a minority of the population

D. Labov used this concept in his work in New York departmental stores
E. Elite closure act as an effective 'gatekeeping’ measure
Choose the correct answer from the options given below:

1. B, C and D only
2. B, D and E only
3. A, B and Eonly
4. A CandE only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Ucite FalleR o aR d Fgfafea d T s ggi g 2
(&) WaTe! anT 2o fafRny uifed uefRia & & fee yrn @1 ugi od g1
(B) TfaGdfdai= @i [afRTF Gl ! HI9T / HINTHT &1 UGN 9o ®<d gl

(C) AT - TDie  h®1 H 30+ S H 59 ATURN &1 U [l 9gl U eqaed qad]
AR UTe ST wGE S B

(D) TEId 5 =T feurdted €l o U= o § 59 HeRN &1 IR fdd|
(E) Ueile Tl Ul UHTdl T1e - SIUT UM & ©4 H @& ®dl gl

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Despite the fact that N/A languages are characterized by distinctive retroflexion, which of the
following languages lack retroflexion?

A. Assamese

B. Romany

C. Marathi

D. Gujrati

E. Sinhalese

Choose the correct answer from the options given below:

1. A only
2. A and B only
3. Conly
4. D only

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

www.FirstRanker.com

= du o S1aaG 1o U 3fTs U yreisf | Ry gef=iiem sifiae it sega &, Fafaiaa

Y3l § gef=fiwmo &1 3ua g -
(A) gt
(B) I
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Arrange the following in chronological order from the earliest publication to the latest :

A. L. Ortega: ‘Understanding Second language Acquisition’

B. 5. D. Krashen: 'The Input Hypothesis: [ssues and Implications’

C. R. Ellis: 'Task-based Language Learning and Teaching'.

D. W. F. Mackey: 'Language Teaching Analysis’

Choose the correct answer from the options given below:

1. D=B-
2:D=B-
ZB=0=
4 B-C-

(-
A -
(-
D -

A
C
A
A

www.FirstRanker.com
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A Firstranker's choice _ .
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fgfafad &1 390 UHHaY ¥ g8 UHRE & YR R SIahdH g saieyd &1:
(A) T@. IS ; SIS YPHUs oo U=

(B) UL, B, $¥H : § 37U siRULfiy : 3304 U Siiadheg

(C) IRTRTY : TRP 958 g A= 9Us 2irad

(D) S& U A : gl I wifafea

i feu v faeal © ¥ 981 S 9T

1.HaaD, B, C, A
2. BaAD, B, A, C
3. ®adAB, D, C, A
4. HadAB, C, D, A

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A translation procedure involving a change in grammar, from SL to TL is known as
A. Modulation

B. Compensation

C. Shift or Transposition

D. Reduction

E. Expansion

Choose the correct answer from the options given below:

1. A only
2. B only
3. Conly
4. D and E only

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Uor U1 3fare fshar forgd |id WISt ¥ Tigg H1] H oaidrol H 9ikac- gidl o, &1 dedldl 6 7
NI

(B) Uideh

(c) e eryar fauda

(D) Beral

(E) fasR

- fu 7w fgoedl & ¥ W5l I gHU:
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A Firstranker's choice _ .
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Formants are .

A. Bundles of frequencies produced as a result of resonance in the oral chamber

B. Useful for characterizing vocalic articulations

C. Useful for characterizing tones of vowels

D. Placed far apart in the acoustic field in the articulation of front-high vowels e.g. [i, 1.
Choose the correct answer from the options given below:

1. A, B and D only
2. A and B only
3. B, Cand D only
4 A B CandD

www.FirstRanker.com
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l Firstranker's choice _ .
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Hgfi s/ Bl § -
(A) TG UBIP T 3alG & Bawasy 309 g 4o
(B) SRR & HfUT& & fod Iuaril
(C) W I aF & ATHTET & o IJugrf
(D) 3 3= W YT [i, | ] P TR0 H @G® &7 5 g W 9 8
- fu 7w fgoedl & ¥ W5l I gHU:
1. &ad (A), (B), (D)
7 ﬁﬁmmaﬁ?
3. ®ad (B), (O), (
4. (A), (B), (), {D}
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A Firstranker's choice _ .
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Which of the following are NOT correct?

A. 'Langue’ is the individual's knowledge of his language

B. 'Parole’ is the use of language by an individual

C. 'Substance’ is the written or spoken shape assumed by a unit

D. 'Form’ is the phonic or graphic medium which is organized into substance to create
meaning

E. 'Langage’ is the human language faculty i.e. language in the general sense
Choose the most appropriate answer from the options given below:

1. A, Cand D only
2.C, D and E only
3. D and E only

4. A DandE only

www.FirstRanker.com
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l Firstranker's choice _ .
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FEfefed ¥ DA Wel 981 8 ?

A) AT AT B TG I 2

8) "Wier Tl safdd gRI Ugdd YT 6|

(C) Feac g fod 3@l @I [aRad Udl aid® Wed gl

(D) B WS 31yal faRad Ared & ol ol Ioi1 o fog gsaey © 71féd fear 9 g
(E) ‘T {1 HTNT a7 3uTd 9 3 & ymer 1

i fau e fasedl o O Uailte Iugad 3w gfHu:

1. ®ad (A), (C) 3R (D)
2. ®ad (C), (D) 3R (B)
3%?:1?1{[:'}\3?1?

4. Had (A), D}aiw
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Match List | with List Il
List | List Il
4. Circumfixation I. To form Allomorphemic variants of a morpheme which are

phonetically unrelated

B. Suppletion Il. Process in which an affix is inserted into a root item itself

C. Infixation Il. Affixation that allows putting affixes on both sides of a word
simultaneously

D. Conversion IV. Where word functions for different categories without any
affixation

Choose the correct answer from the options given below:

TLA-ILE-IV,C-1,D-1l
ZA-ILB-1,C-1I,D-1V
SA-IV,B-ILC-1I, D-1
4 A-1,B-IV,C-1Il,D-1

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

gl - | 3R TGl - 11 D gHfed sifau

Tl - | T -
e |, forelt = fte & srpdin uRad o wWhfas ® 9 3 sidds

- %.]ﬁwﬁlﬁug&mﬁnﬁﬁ&m:wﬁﬁmm
C. 9% U - |11, UegaH orgd fdl e & oA 3R 914 - 91y Uy
g Td ST £

o, et v. fawfda o) e wiss famn fovdll wegga & fafds
' 907t & ¥4 H ugad aid 8

4 fgu e fowedf & © Oel 3w g

A
A

1. (A)-(I1), (B)-(IV), (C)-(1), (D)-(111)
2. (A)-(1l

3. (A)-
4. (A)-

). (B)-(1), (C)-(1), (O)}-(IV)
V), (B)-(11), (C)-(11), (D)-(1)

A)=(1), (B)-(IV). (C©)-(11), (D)-(11y

g
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A Firstranker's choice

Match List | with List 11

www.FirstRanker.com

List |

List 1l

A, Airstream Process

l. Tongue

B. Phonation Process

Il Velum

. Nasalization Process

Il. Lungs

D. Articulation Process

IV. Larynx

Choose the correct answer from the options given below:

TA-IL,B-IV,C-Il,D-1
ZA-LB-ILC-IV,D-1
3A-IV,B-1LC-1ILD -1
4 A-ILB-IV,C-1ILD -1

www.FirstRanker.com
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A Firstranker's choice
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gl - | 3R Gl - 11 ol Gaferd siferg : -
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Tl - | T -
A. Ay - UdTg Wishdr |, ST

B. Te g Lo ufeear Il Bod
CATTEFERH uigar . e
D. SR Uishdl V. TagA
i feu v fasenl © 981 S g

1. (A) -(I), (B) - (IV) )- ()

2. (A) (1), (B) - (1), )- ()

3. (A) -(IV), (B) - (1), )- ()

4. (A) -(I), (B) - (IV) )- ()

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List | List 11

A p. bt d |l glides

B.b,z,n |l liquids

C.yw Il. stop, consonants
D.Ir IV. voiced sounds

Choose the correct answer from the options given below:

TA-IL,B-IV,C-Il,D-1
ZA-IV,B-ILC-I,D-1
3A-ILB-IV,C-I,D-1
4A-LB-ILC-IV,D-I

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com

gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - | T - 1

A. b, b. ph, bh |, HeRR

B. b,z n Il.de] a4

C. Y, W 111, TR e
D. T V. 99 TG
i feu v fasenl © 981 S g

1. (A) -(IlN), (B) - (IV), (C) - (1)

2. (A) -(IV), (B) - (1), (C) - (1)

3. (A) (1), (B) - (IV), (C) - (1)

4. (A) (1), (B) - (1), (C) - (1)

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List | List Il
A, Karta . Nominative
B. Karman l. Accusative

. Adhikaranallll. Locative

0. Karana IV. Instrumental

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-1,B-NI,C-1I,D-IV
3A-ILB-1,C-1V,D-1l
4 A-IV,B-IIILC-1I,D -1

www.FirstRanker.com
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l Firstranker's choice

www.FirstRanker.com

gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - | T - 1

A Tl |, ArEHREE
B. &Y || TagGifed
C. HfEEI 1. dlicbied
D. 00 V. gEcHed
i feu e faedl & ¥ el 3w U :

1. (A)-(1), (B) - ) - (IV)

2. (A) (1), (B) - ) - (IV)

3. (A) (I, (B) - (1)

4. (A) -(IV), - ()

www.FirstRanker.com
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A Firstranker's choice

Match List | with List 11

www.FirstRanker.com

www.FirstRanker.com

List |

List 1

A, Assimilation

. brid — bird; hros — horse; palabra — parabola

B. Dissimilation

Il arbor — arbol; chimney — chimley; frijolar — frijol

. Metathesis

IIl. scola — iskola; stabula — istabula; cronica — coronica

D. Epenthesis

IV. octo — otto; noctem — notto; septem — sette

Choose the correct answer from the options given below:

TA-IL,LB-ILC-1,D-1V
ZA-1,B-NI,C-IV,D-1
3A-ILB-1,C-1V,D-1l
4 A-IV,B-1I,C-1,D-1l

www.FirstRanker.com
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l Firstranker's choice

www.FirstRanker.com

gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - | T - 1

A, GHIGIO I, brid — bird; hros — horse; palabra — parabola

B. fauHi®20n |11, arbor — arbol: chimney — chimley; frijolar — frijol

c. [qunig lll.scola — iskola; stabula — istabula; cronica — coronica
. Hﬁﬁ%ﬁf IV. octo — oftto; noctem — notto; septem — sette

i feu e faenl © ¥ 9E1 W 9T

1. (A) (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) -(1), (B) - (1), {C) - (IV), (D) - (1)

3. (A) -(II), (B) - (1), () - (IV), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List | List Il

4. The literal meaning |I. Semantic information

B. Explicature Il. Contexual information
C. Implicature lll. Sender's agenda
D. Proposition IV. Core sentence meaning

Choose the correct answer from the options given below:

TA-IL,B-IV,C-Il,D-1
ZA-ILB-ILC-1,D-IV
3A-1L,B-1LC-1I,D-IV
4 A-IV,B-IIILC-1I,D -1

www.FirstRanker.com
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A Firstranker's choice .
www.FirstRanker.com

gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - | T -

A. et 37 |, reaTd Gl

B. goraary 11, FgHITd TgoAT

c. Ffgared 111 WS T Tol ST
D U v. e areg 3
1. (A) (1), (B) - (IV), (C) - (1), (D) - ()

2. (A) -(II), (B) - (), (C) - (1), (D) - (IV)

3. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List Il
List | List 11
A, Synonymy I. husband-wife
B. Complimentaries |Il. big-small
C. Antonyms . boy-girl
D. Converse IV. begin-commence

Choose the correct answer from the options given below:

TA-WV,B-I,C-II,D-1
ZA-1,B-1,LC-1I,D-IV
3A-ILB-1LC-IV,D-1
4 A-1LB-,C-IV,D-1i

www.FirstRanker.com
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l Firstranker's choice
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Tl - 1 B gl - 1 G gafed oifere: -

www.FirstRanker.com

Tl - | T - |l

A, IS |, O - Tet

B. ¥ . €31 - el

c. faam I, TSHI - TSP
D. fawdiard® V. TSI - URH
1. (A) -(IV), (B) - (D) - (1)

2. (A) -(1), (B) - ) - (IV)

3. (A) -(l), (B} - (D) - (1)

4. (A) -(l), (B) - C - (V). (D) - (1)

www.FirstRanker.com
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A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
Match List | with List Il
List | List Il
A, Martha's Vineyard Study |l. Susan Gal
B. Oberwart Study Il. William Labov
C. Kupwar Study . ). Gumperz & Wilson
D. Norwich Study IV. Peter Trudgill

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-IV,B-ILC-ILD-1
SA-ILB-L,C-1I,D-1V
4 A-1ILB-IV,C-1,D-1

www.FirstRanker.com
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l Firstranker's choice

www.FirstRanker.com

Tl - 1 B gl - 1 G gafed oifere: -

www.FirstRanker.com

Tl - | T - 1

A, AT f§Hars w3l I, T8 TTA

B. H[Eare wal 11, fafergw am@iE

C. HUGR Tal 11151770 3R faeH
D. Alfdd w8l Iv. tiex gsfira

1. (A) (1), (B) - (1), (€) - (1), (D) - (IV)

2. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

3. (A) (1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) (I, (B) - (IV), () - (1), (D) - (1)

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

Match List | with List 11

List1  |Listll

A, SVO |l English, French, Hausa and Thai

B. SOV [Il. Persian, Japanese, Korean, Tibetan
C. VSO |lll. Hebrew, Classical Arabic, Tagalog
D.VOS |IV. Malagasy, Tzotzil, Cakchiquel

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-ILB-1LC-IVM,D-1
3A-ILB-IV,C-I,D-1
4 A-IV,B-IIILC-1I,D -1

www.FirstRanker.com
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l Firstranker's choice
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gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - | -

A TH At o |, ST : I - BT 3R T3

B. TH i} 4} I, TBRE! : O B : fsdt
caiTg 111. STel : TIPS &l 2 ST
DAl 3Ty Iv. HEAFTIT - Siford - et

i feu e fapedl o ¥ el 3w U :

1. (A) (1), (B) - (1), (€) - (1), (D) - (IV)

2. (A) -(II), (B) - (), (C) - (IV), (D) - (1)

3. (A) (1), (B) - (IV), (C) - (), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - ()

www.FirstRanker.com
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A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Match List | with List 11

List | List 1l

4. B. Van Pattern|l. Suggestology and Outlines of Suggestopedy (1978)

B. G. Lozanov  |Il. Translation in Language Teaching (2010)

C. G. Cook Ill. A Cognitive Approach to Language Learning (1998)
D. P. Skehan IV. Processing Instruction (2004)

Choose the correct answer from the options given below:

TA-ILB-1,C-1,D-1V
ZA-IV,B-ILC-ILD-1
3A-1L,B-1LC-1I,D-IV
4 A-IV,B-1,C-1I,D-10

www.FirstRanker.com
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l Firstranker's choice
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gl - | 3R Gl - 11 ol Gaferd siferg : -

www.FirstRanker.com

Tl - |

i - 1l

A o 3. T

|, FoiRe ciol U038 3cag-d AP o ual (1978)

B. Sl aileiAg

II, EHEeIeH 34 citds ¢ifdT (2010)

C. Sl.dd

11131 SITifed THId ¢ ciidd Tl (1998)

D.Ul, The

V. UTEFRERT $¥¢a=H (2004)

- fgu 7Y fgoedl & ¥ W51 IR gHU:

AC) - (1), (D
AC) - (),
C) - (), (D
[') (€ -, (@

(V)
(1
(V)

)
D) -
)i
) - (1)
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Match List | with List 11

List | List Il

A. Dysarthria |I. Difficulties in motor programming of speech

B. Dyslexia II. Difficulties in the motor articulation of speech
C. Aphasia I1l. Difficulties in reading
D. Apraxia IV. Loss of language as a symbolic system

Choose the correct answer from the options given below:

TA-ILB-IIlLC-1IV,D-1
ZA-ILB-1L,C-1I,D-IV
JA-LB-ILC-1V,D-1l
4 A-LB-ILC-1,D-IV

www.FirstRanker.com
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l Firstranker's choice

www.FirstRanker.com

gl - | 3R TGl - 11 D gHfed sifau

www.FirstRanker.com

Tl - | T - |l

A, i 9 dbcy |, a1 & doH fa=arg H SisArs

B. drg d& ey II. 9T & Tfd® =R H Bisrs
CaraTard I1I. 95 § ®isAR

D. Iardid V. ichfcids WOTTcHl o &4 H HIHIY
i feu e faedl o ¥ el 3w U :

1. (A) (1), (B) - (1), (C) - (IV), (D) - ()

2. (A) -(II), (B) - (1), (C) - (1), (D) - (IV)

3. (A) (1), (B) - (1), (C) - (1V), (D) - (1)

4. (A) (), (B) - (1), (C) - (), (D) - (IV)

www.FirstRanker.com
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A Firstranker's choice

Match List | with List

www.FirstRanker.com

www.FirstRanker.com

List |

List 11

4. Broca's Aphasia

I. Predominant grammatical impairment

B. Wernicke's Aphasia

II. Disability affecting reading & writing ability

C. Agrammatism

lll. Fragmentary nature of speech/language production

D. Dyslexia

IV. Severe loss of linguistic comprehension

Choose the correct answer from the options given below:

T.A-1,B-I,C-11D
ZA-IV,B-1IC-II,

- IV
D=

3A-ILB-IV,C-I,D-1
4 A-ILB-LC-IV,D-1l

www.FirstRanker.com
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A Firstranker's choice
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gl - | 3R Gl - 11 ol Gaferd siferg : -
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gl - |

T - 1

A. ST &l drdTEld/ i
ddbcy

I, T ATHIUD Bl

B. 3% &1 1% ddbcd

IERIESG]]

I, T34 3R T T4l ®f JYIfad &3 31

C. HATHAD

I11. a1 7 T (101 &1 faEue- Udhid

D./=H ddh g

IV, HTETE! SRl & 9R B!

4 fgu e fowedf @ © Oel 3w g
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A Firstranker's choice
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Match List | with List Il
List | List Il
A, |diolect I. Use to which language is being put
B. Register Il. Semi secretive language
C. Antilanguage lil. Setting of the interaction
D. Field of the discourse|IV. Stylistic Idiosyncrasies

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-ILB-1LC-IVM,D-1
3A-IV,B-1LC-1I,D-1I
4 A-LB-ILC-1,D-IV

www.FirstRanker.com
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l Firstranker's choice

www.FirstRanker.com

Tl - 1 B gl - 1 G gafed oifere: -

www.FirstRanker.com

Tl - | Tl - I

A AfFT-didt ||, 98 vieH fome Rty iged 8l W 8
B. Tgfad 11, 3G TGy

C. S{THUTH] 111, Targ giaw

D. Uifad &3 Iv. TR fa=dr
Fofeiad fGeeal © 9 981 SR gfe

1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) (1), (B) - (1), (€} - (IV), (D) - (1)

3. (A) -(IV), (B) - (1), (C) - (), (D) - (1)

4. (A) -(In), (B) - (), (C) - (1), (D) - (IV)

www.FirstRanker.com
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A Firstranker's choice

Match List | with List 11

www.FirstRanker.com www.FirstRanker.com

List |

List 1

A, Total feedback

I. Speaker of a language can reproduce any linguistic message
he can understand

B. Interchangibility

Il. Speaker of a language hears everything of linguistic
relevance he himself says

C. Rapid Fading

l1l. Signal does not linger for a reception at the hearer's
convenience

D. Broadcast Transmission

IV. A linguistic signal can be heard by any auditory system
within earshot and the source can normally be localized by
binaural direction-finding

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-ILB-1L,C-1I,D-IV
3A-ILB-IV,C-I,D-1
4 A-IV,B-IIILC-1I,D -1

www.FirstRanker.com
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A Firstranker's choice .
www.FirstRanker.com

Tl - 1 & gl - 1 4 gHfed oifeg : -

www.FirstRanker.com

Tl - | i - |l
A THT ||, HET 4T 5 o YeaEiee 9w of 9y 96dl 8, 99
uiagfy (S o gl o
BT  |I1.P15 YTHT HTN! W90 & GRI I=1d YNGR Sadl &)
URad-adl [Udie o gdl &
C.@Rd |1 U &1 SUEY £q 3ed Yidl & YiauaR el aidl
fgaga (gl
I Iv. [t Yreras-o ud & yoadr 9 & Hiae fadh off
o YUl 3 Y G o Sl ¢ R fgeruiy RRnas

TIEU 1 Fd &1 Udl o] off 96l g
1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) (1), (B) - (IV), (C) - (1), (D) - (I1)
4. (A) -(IV), (B) - (1), () - (In), (D) - ()

www.FirstRanker.com
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A Firstranker's choice
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Match List | with List Il
List | List Il
4. Discreteness I. A large number of meaningful utterances can be recombined in

a systematic way from a small number of discrete parts of the
language

B. Displacement Il. Language users can understand and create never-heard-before
utterances

C. Productivity Ill. Language users can talk about things that are not present

D. Duality of Patternin
! J IV. Messages are made of smaller, repeatable parts rather than

indivisible units

Choose the correct answer from the options given below:

T.A-1L,B-I,C-11,D-1V
ZA-ILB-1L,C-1I,D-IV
SA-ILEBE-IV,C-1, D-1I
4 A-IV,B-IIILC-1I,D -1

www.FirstRanker.com
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A Firstranker's choice
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gl - | B gl - 1| ¥ gafed Sifeg : -

www.FirstRanker.com

Q-1 [gE-

A. I, HTST & fafess YR & oy T © a9 g | Sfeguf
fafesadl (BRI & Yare w0 4 Hiferd fdar o1 gadl o

B. I1. HTST HARTdd! qd 3%d 3R & Toi-] @2 Gbd & A
34 g god g

> 1, MTST SrTenal S o & aR & a1 o g d T

C v, TR e o Org ag u A Bl SR R A
- Y SHIEal I

- fu 7Y fgoedl & ¥ U5l IR gHU:
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Read the given passage and answer the questions that follow

Women were less constrained than men in letting the current social network determine the
choice of Hungarian or German. Rather, they were in advance of men in their choice of
German. Gal argues that rejection of the use of local Hungarian was part of the rejection by
younger women of peasant status and peasant life generally. However, the possibility of a
young man taking over the family farm could bring some advantages over wage labour, such
as independence. On the other hand, women do not want to be peasants; they do not present
themselves as peasants in speech. Gender and matrimonial relations seem to play a significant
part in a number of other language-shift situation. One such case involves the Yaaku of Kenya.
Why did the Yaaku give up their language (consciously, if the sources are to be believed) in
favour of the Maa language? After the more dominant group of Maasai moved into the
traditional area of the Yaaku, there was a gradual decline in endogamy among the Yaaku.
Whereas traditionally Yaaku girls receive beehives as wedding gifts (i.e. bridewealth) when they
began marrying Maasai men they received livestock instead. Soon Yaaku parents began
demanding this from Yaaku men as well, necessitating a traumatic change in lifestyle for
younger Yaaku men. They had to acquire cattle by serving as herders for the Maasai. This
brought them closer to the Maasai in lifestyle since pastoralism (keeping cattle) involved a
more sedentary lifestyle than hunting and gathering. Marriage between Yaaku men
Maasai women then became a possibility. The children of such marriages became monolingual
in the dominant language.

Reference: Mesthrie, R at. el (2000) Introducing Sociolinguistics. EUP, Pp.260-261
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According to the passage, the children of Yaaku men and Maasai women became

1. Monolingual in Maa

2. Monolingual in Yaaku

3. Bilingual in Maa and Yaaku

4. Bilingual in Maa and Hungarian

From the passage above, what appears to have been the traditional way of living for the
Yaaku?

1. Agrarian

2. Pastorial

3. Hunting - Gathering
4. Raiding
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According to the passage above, which of the following is the preferred bridewealth of the
Yaaku parents?

1. Peasantry products
2. Beehives

3. Livestock

4. Gold

According to the passage above, women do not opt for Hungarian because

1. It is not the national language.

2. It is associated with colonization.

3. It is associated with being a peasant.

4. It is used by men because of high prestige.

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

Which one of the following is correct from the perspective of the passage?

1. Women and men are equally constrained in |letting the current social nature determine the
choice of Hungarian and German.

2. Men are more constrained than women in letting current social network determine the
choice of Hungarian and German.

3. Women are more constrained than men in letting current social network determine the
choice of Hungarian and German.

4. There are no constrains in letting current social network determine the choice of Hungarian
and German.
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Read the given passage and answer the questions that follow

Strategic competence is no longer seen as compensatory, activated only when other
competences are lacking. Instead, it is central to all communication. It achieves this by carrying
out a mediating role between meaning intentions (the message which is to be conveyed),
underlying competences, background knowledge, and context of the situation. It carries out
this role by determining communicative goals, by assessing communicative resources, by
planning communication and by executing this communication. Bachman characterizes these
capacities as metacognitive skills. They are 'cognitive' because of the nature of operations they
involve, and 'meta’ since there can be self-awareness built into their operation. This analysis
goes a long way to justifying the status of competence for these abilities. It implies that they
are indeed underlying and generalized.

Reference: Skehan, Peter (1988). A Cognitive Approach to Language Learning. OUP:161.

Strategic competence is central to all communication

1. It is compensatory.

2. It is activated when other types of competences fail.

3. It plays a mediating role between the meaning intentions on the one hand, and underlying
competences, background knowledge on the other.

4. It is part of the underlying competence.
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21052918584. 4

Question Number : 147 Question Id : 2105294702 Question Type : MCQ Option Shuffling : No Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Bachman, planning communication and executing the same is part of

1. Competence.

2. Performance.

3. Communicative capacity.
4. Meta cognitive skills.

The idea of strategic competence is based on

1. The Chomskyan notion of competence.

2. The Hymes' notion of ‘communicative competence’”.

3. The notion of cognitive capacity and metacognitive skills.
4. None of the above.
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Bachman, metacognitive skills includes cognitive capacity to

1. Determine communicative goals.
2. Assess communicative resources.
3. Plan and execute communication.
4, All of the above.

Given below are two statements:

Statement |: As can be seen in the paragraph above, Bachman's notion of strategic
competence deals with a wide-ranging underlying and dependable competences.

Statement lI: Bachman's model does not view inter-relationship between the different
component competences; nor does it appear to be appropriately grounded in contemporary
linguistic theory.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement 1l is incorrect

4, Statement | is incorrect but Statement Il is correct
www.FirstRanker.com
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Options :

21052918597. 1
21052918598. 2
21052918599. 3
21052918600. 4

Question Id : 2105294700 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Gro
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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